
 

 

Spare Parts List 
 

 

MK 32 UZ 

 

 

 

 

TÜNKERS® 
SPANNSYSTEME 

TÜNKERS® Maschinenbau GmbH 
Am Rosenkothen 8 • 40880 Ratingen 
Postfach 10 17 16 • 40837 Ratingen 
Tel. 02102 4517-0 • Fax 02102 445808 
Internet: www.tuenkers.de 

 

       Spare Parts     05/12 

      Pos. Part-No. Quantity Description Type Flag 1 

  10 203923          1.00 housing MK 32 UZ  
  20 203596          1.00 fork shaped piece K 32 UZ  
  30 202575 3.00 bolt PKS 32.1 R 
  40 205339          2.00 roller PKS 32 R 
  50 205280          1.00 strap PKS 32 U R 
  60 202606          3.00 bolt PKS 32 U R 
  70 206441          1.00 angle piece PKS 32 U  
  80 203124          4.00 distance sleeve PKS 32 UZ  
  90 203441          1.00 fork shaped piece PKS 32 U  
 100           1.00 clamping hook depending on version  
 110 202211          2.00 covering PKS 32 U/50 UZ  
 170 204967          1.00 piston rod MK 32 UZ  
 180 203399          1.00 guide block complete MK 32 UZ  
 190 200166          4.00 hex. socket head cap screw M 6 x  12  DIN 912  
 200 200976          4.00 securing spring washer S 6  
 210 206373          1.00 clamping lever MSZK 40 x 40  
 220 204323          1.00 lever MSZR 50  
 230 203117          2.00 distance bush MSZK 40  
 240 202747          1.00 bolt MSZR 50  
 250 201293          2.00 retaining rings for shafts A 10 x 1.00  DIN 471  
 260 202867          2.00 bush ∅ 12/10 x 7  
 270 204383          1.00 hand lever K 50 Z  
 280 202839          1.00 bush ∅ 12/14 x 7,5  DIN 17662  
 290 200124          8.00 hexagon socket head cap 

screw 
M 4 x  6  DIN 84  

 300 200612          1.00 set screw M 4 x  6  DIN 915 R 
 310 201292         12.00 retaining rings for shafts A 8 x 0,80  DIN 471 R 
 320 201578          3.00 bush ∅  8/10 x 8      DIN 17662 R 
 330 209733        8.00 bush ∅  8/10 x 10    DIN 17662 R 
 340 202746          1.00 bolt MSZR 50 R 
 350 205234          2.00 roller PKS 20 R 
 360 201291          2.00 retaining rings for shafts A 6 x 0,70  DIN 471 R 
 370 204264 0,40 threaded rod M 10, 35 lg.  
 380 200685          2.00 hexagon thin nut M 10  DIN 439  
 390 202270          2.00 covering sheet metal MK 32 UZ  
 400 212142          1.00 scraper AS 20- 28- 3.5- 5 R 
 410 202776          1.00 bolt MK 32 UZ R 
 420 201294          2.00 retaining rings for shafts A 12 x 1.00  DIN 471 R 
 430 201507          2.00 hexagon head socket pipe 

plug 
R 1/8“  DIN 906  

 440 209723 1.00 handle PVC like RAL 1007/H 421  
 450 200577 1.00 set screw M 3 x  8  DIN 914  
 640  1.00 lid depending on version  

                                            
1 R = included with repair kit  



 

 

Spare Parts List 
 

 

MK 32 UZ 

 

 

 

 

TÜNKERS® 
SPANNSYSTEME 

TÜNKERS® Maschinenbau GmbH 
Am Rosenkothen 8 • 40880 Ratingen 
Postfach 10 17 16 • 40837 Ratingen 
Tel. 02102 4517-0 • Fax 02102 445808 
Internet: www.tuenkers.de 

 

Spare Parts 05/12 
Pos. Part-No. Quantity Description Type Flag 2 

 650  1.00 centering mandrel depending on version  
 660 200419 4.00 hex. socket head cap screw M 6 x  10  DIN 6912  
 670 201257 2.00 parallel pin D 5 m6 x  16  DIN 7979  
 680 200484 4.00 hexagon socket countersunk 

head screw 
M 5 x  10  DIN 7991  

 690  1.00 top plate depending on version  
 700 200495 4.00 hexagon socket countersunk 

head screw 
M 8 x  16  DIN 7991  

      spare parts sets / accessories    
      Pos. Part-No. Quantity Description Type  
 219847 1.00 repair kit MK 32 UZ  
 226475 1.00 limit switch set complete K 32 UZ T12  

                                            
2 R = included with repair kit  



 

 
 

 

Spare Parts Drawing 
 

05/12 

 
 

MK 32 UZ 
 

 

 

 

 

TÜNKERS® 
SPANNSYSTEME 

TÜNKERS® Maschinenbau GmbH 
Am Rosenkothen 8 • D-40880 Ratingen 
Postfach 10 17 16 • D-40837 Ratingen 
Tel. 02102 4517-0 • Fax 02102 445808 
Internet  www.tuenkers.de 

 

 
 

 

430 

10 

30 

110 

110 

180 

190 
200 

170 

210 

220 

230 

230 
240 

250 

260 

260 

270 

440 

280 

290 

420 

420 
360 

360 

250 

310 

310 

310 

310 

320 

350 
350 

340 

380 

390 

390 
290 400 

410 

430 

450 

20 
30 

40 

40 
300 

310 
320 

320 
310 

50 
60 

60 

60 

70 

80 

80 

80 

80 

90 

100 

310 

310 

310 

310 330 
330 

330 

330 
330 

330 

330 

330 

310 

310 
640 

650 

690 

660 
670 

680 

700 

370 
380 

 
 


